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4 �E=>6O <<?G?LE=>=  F5E=<>< 4 

5. �EF>G=<>< ?<F4=<O D44<>M?5>FD>==>= 4??4D4FGDO 4 

$4745? 2.�<EF4=F<>==>5 4<E?5FG5DE>>5 G?D46?5=<5 6 M=5D75F<>5 

6. -?5<5=FO ��% 4 

7. �D>5>F<D>64=<5 GEFD>=EF6 < E<EF5< =4 5475 <<>D>?D>F5EE>D>6. 6 
 

�F>7> 14 

 
�4>G=4O D>D<4 >5GG5=<O 

7 

?/? 

&5<O  74=OF<= �>?<G5-

EF6> G4-

E>6 

$4745? 1.�<>D>?D>F5EE>D=O5 ED54EF64  G?D46?5=<O 6 -%. �4FG<>< < <E?>?=<F5?L=O5 <5-

E4=<7<O <<>D>?D>F5EE>D=OE ED54EF6 46F><4F<74F<<. 

1. �5M<5 ?>?>65=<O. �<>D>?D>F5EE>D. �EF>G=<>< ?<F4=<O 2 

$4745? 2. �<EF4=F<>==>5 4<E?5FG5DE>>5 G?D46?5=<5 6 M=5D75F<>5 

2. -?5<5=FO ��%.  �D>5>F<D>64=<5 GEFD>=EF6 < E<EF5< =4 5475 <<>D>?D>-

F5EE>D>6. 

2 

 �F>7> 4 
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5.4. %>45D64=<5 D4745?>6 4<EF<??<=O 

7 

?/? 

�4<<5=>64-

=<5 D4745?4 

%>45D64=<5 D4745?4 �><?5-

F5=F<< 

1. $4745? 1. 

�<>D>?D>-

F5EE>D=O5 

ED54EF64 

G?D46?5=<O 6 

-%. �4FG<>< 

< <E?>?=<-

F5?L=O5 <5-

E4=<7<O <<>-

D>?D>F5EE>D-

=OE ED54EF6 

46F><4F<74-

F<<. 

�<>D>?D>F5EE>D < 57> 4DE<F5>FGD4.&<?O �� ��% 

'=<65DE4?L=O5 <<>D>?D>F5EE>DO < <E >E=>6=O5 E4-

D4>F5D<EF<><.�4=>>D<EF4?L=O5 <<>D>>>=FD>??5DO: 

>E>55==>EF< 4DE<F5>FGDO, >E=>6=O5 E4D4>F5D<EF<><, 

>5?4EFL ?D<<5=5=<O.%FDG>FGD4 <<>D>>>=FD>??5D4 F<?4 

��-51. �E=>6=O5 DG=>F<>=4?L=O5 5?>>< < <E =47=4-

G5=<5.�D74=<74F<O ?4<OF< ?D>7D4<< < ?4<OF< 44=-

=OE.�??4D4F=O5 < ?D>7D4<<=O5 ED54EF64 <<>D>-

>>=FD>??5D4 4?O >5D45>F>< 5<F>6>= <=D>D<4F<< 

%<EF5<4 ?D5DO64=<O.�?>> F4=<5D>6/EG5FG<>>6: =47=4-

G5=<5, EFDG>FGD4, D56<<O D45>FO, ?D<<5=5=<5. 

�D74=<74F<O ?>E?54>64F5?L=>7> 66>44/6O6>44 6 <<>D>-

>>=FD>??5D5.%FDG>FGD4 G=<65DE4?L=>7> ��. �E=>6=O5 

DG=>F<>=4?L=O5 5?>>< < <E =47=4G5=<5. 

$57<EFD>64O EFDG>FGD4 32-D47DO4=>7> ��. 

�D74=<74F<O ?4<OF<. $<7<G5E>>5 44D5E=>5 ?D>EFD4=-

EF6>. �>7<G5E>>5 44D5E=>5 ?D>EFD4=EF6> (���): ?<=5=-

=>5, E57<5=F<D>64==>5, EFD4=<G=>5, E57<5=F=>-

EFD4=<G=>5. 

%FDG>FGD4 ?>7<G5E>>7> 44D5E4 6 E57<5=F<D>64==>< 

���. %5?5>F>D, 45E>D<?F>D E57<5=F4, E<5M5=<5. 

�47=4G5=<5 < EFDG>FGD4 7?>54?L=>= < ?>>4?L=OE F45-

?<F 45E>D<?F>D>6. $>D<<D>64=<5 ?<=5==>7> < D<7<G5-

E>>7> 44D5E4 6 E57<5=F<D>64==>< ���. �ML<D>64=<5 

45E>D<?F>D>6. 

%FDG>FGD4 D4EL<D5==>7> >>44 >><4=4O x86. �OG<E?5-

=<5 ?D>F5EE>D>< E<5M5=<O. 

�<DFG4?L=4O ?4<OFL. %FD4=<G=>5 ���. %FDG>FGD4 ?<-

=5==>7> 44D5E4 6 EFD4=<G=>< ���. �47=4G5=<5 >4F4?>-

74 F45?<F EFD4=<F < F45?<F EFD4=<F. 

&D4=E?OF<O ?<=5==>7> 44D5E4 6 D<7<G5E><= ?D< EFD4-

=<G=>= >D74=<74F<< ?4<OF<. %FDG>FGD4 M?5<5=F4 >4F4-

?>74 F45?<F EFD4=<F < M?5<5=F4 F45?<FO EFD4=<F. 

�5E4=<7<O 74M<FO 6 32-D47DO4=>< <<>D>?D>F5EE>D5. 

�4M<F4 ?D< G?D46?5=<< ?4<OFLN. �4M<F4 ?> ?D<6<?5-

7<O<. �5E4=<7<O ?5D544G< G?D46?5=<O <564G ?D>-

7D4<<4<< =4 D47=OE GD>6=OE ?D<6<?57<=. ,?N7 6O7>-

64. 

�=>7>7444G=O= D56<< D45>FO <<>D>?D>F5EE>D4, 4??4-

D4F=O5 ED54EF64 ?>445D6>< <=>7>7444G=>EF<: D57<EFD 

7444G<, 45E>D<?F>D E57<5=F4 E>EF>O=<O 7444G<, E57<5=F 

E>EF>O=<O 7444G<. �5E4=<7< ?5D5>?NG5=<O 7444G. 

�47=4G5=<5, ?D<=F<?O D45>FO < >D74=<74F<O >ML-

?4<OF<. &<?O >ML-?4<OF<. %?>E>5O >D74=<74F<< >M-

L<D>64=<O (E>6>7=4O < >5D4F=4O 74?<EL). �D74=<74F<O 

6=GFD5==5= >ML-?4<OF<. 

�D5DO64=<O < <E>?NG5=<O 6 ��%. $G=>F<>=<D>64=<5 

<<>D>?D>F5EE>D4 ?D< >5D45>F>5 ?D5DO64=<= < <E>?N-

G5=<=. &45?<F4 65>F>D>6 ?D5DO64=<=. �5E>D<?F>D=4O 

��-10 

(��-1) 
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F45?<F4 ?D5DO64=<=. 

�??4D4F=O5 ?D5DO64=<O 6 <<>D>?D>F5EE>D=OE E<EF5-

<4E. �EF>G=<>< 4??4D4F=OE ?D5DO64=<= 6 EF4=44DF=>= 

>>=D<7GD4F<< ��%. �>=FD>??5D ?D<>D<F5F=OE ?D5DO-

64=<= (���): DG=>F<<, EFDG>FGD4 < 4?7>D<F< D45>FO. 

�>?NG5=<5 ��� 6 EFDG>FGDG <<>D>?D>F5EE>D=>= E<-

EF5<O. �4E>44=>5 6>?NG5=<5 >>=FD>??5D>6 ?D<>D<F5F-

=OE ?D5DO64=<=. 

2 $4745? 2.  

�<EF4=F<>=-

=>5 4<E?5F-

G5DE>>5 

G?D46?5=<5 6 

M=5D75F<>5 

�E=>6=O5 >E>55==>EF< ��% >4> >5N5>F>6 >>=FD>?O. 

�E>55==>EF< >F?44>< ��% =4 D47?<G=OE MF4?4E 6<7-

=5==>7> F<>?4.�??4D4F=O5 < ?D>7D4<<=O5 ED54EF64 

4?O D47D45>F>< < >F?44>< <<>D>?D>F5EE>D=OE E<EF5<. 

�47=4G5=<5 < >E>55==>EF< F<DD>6>= >5D45>F>< E<7=4-

?>6. 

�E=>6=O5 >E>55==>EF< 4DE<F5>FGDO ?D>F5EE>D>6 F<D-

D>6>= >5D45>F>< E<7=4?>6.�E>55==>EF< E<EF5<O >>-

<4=4 < ?D>7D4<<<D>64=<O ?D>F5EE>D>6 F<DD>6>= >5-

D45>F>< E<7=4?>6.�?4EE<G5E><5 <5F>4O >F5=>< ?D><7-

6>4<F5?L=>EF< <<>D>?D>F5EE>D>6: ?> F4>F>6>= G4EF>F5, 

MIPS, MFLOPS. �>EF><=EF64, =54>EF4F><, >5?4EFL 

?D<<5=<<>EF<. 

�F5=>4 ?D><76>4<F5?L=>EF< <<>D>?D>F5EE>D>6 =4 >E-

=>65 5M=G<4D>>6E><E ?D>7D4<<. &5EF>64O ?D>7D4<<4 

Linpack. &5EF>6O5 ?4>5FO SPECCpu, BDTI. 

%FDG>FGD4 < >E>55==>EF< DG=>F<>=<D>64=<O E>6D5-

<5==OE G=<65DE4?L=OE ��. 

��-10 

(��-2, 

��-3) 

 
6. 'G55=>-<5F>4<G5E>>5 >55E?5G5=<5 E4<>EF>OF5?L=>= D45>FO 

&5<4F<G5E><= ??4= E4<>EF>OF5?L=>= D45>FO  

7 

?/? 

&5<4F<>4 E4<>EF>OF5?L=>= 

D45>FO 

�>?<G5-

EF6> G4-

E>6 

$5>><5=4G5<O5 <EF>G=<>< <=-

D>D<4F<< (7 <EF>G=<>4) 

>E=>6-

=4O (<7 

?.8 

$��) 

4>?>?=<-

F5?L=4O 

(<7 ?.8 

$��) 

(<=F5D=5F-

D5EGDEO) 

(<7 ?.9 

$��) 

1 �4=>>D<EF4?L=O5 <<>D>-

>>=FD>??5DO: >E>55==>EF< 4D-

E<F5>FGDO, >E=>6=O5 E4D4>F5-

D<EF<><, >5?4EFL ?D<<5=5=<O. 

4/4 1,3 2,3 1-5 

2 %FDG>FGD4 G=<65DE4?L=>7> 

��. �E=>6=O5 DG=>F<>=4?L-

=O5 5?>>< < <E =47=4G5=<5. 

4/6 1,3 1-4 1-5 

3 �D74=<74F<O ?4<OF<. $<7<G5-

E>>5 44D5E=>5 ?D>EFD4=EF6>. 

���. 

4/6 1,3 1,3,4 1-5 

4 �5E4=<7<O 74M<FO 6 32-

D47DO4=>< <<>D>?D>F5EE>D5. 

�4M<F4 ?D< G?D46?5=<< ?4<O-

FLN. 

4/4 1,3 1,3 1-5 

5 �<DFG4?L=4O ?4<OFL. %FD4-

=<G=>5 ���. %FDG>FGD4 ?<-

=5==>7> 44D5E4 6 EFD4=<G=>< 

4/8 1,3 2,3,4 1-5 
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���. 

6 �=>7>7444G=O= D56<< D45>FO 

<<>D>?D>F5EE>D4, 4??4D4F=O5 

ED54EF64 ?>445D6>< <=>7>74-

44G=>EF<. 

4/6 1,3 1,3 1-5 

7 �47=4G5=<5, ?D<=F<?O D45>FO 

< >D74=<74F<O >ML-?4<OF<. 

&<?O >ML-?4<OF<. 

4/10 1,3 1,3,4 1-5 

8 �D5DO64=<O < <E>?NG5=<O 6 

��%. $G=>F<>=<D>64=<5 

<<>D>?D>F5EE>D4 ?D< >5D4-

5>F>5 ?D5DO64=<= < <E>?NG5-

=<=. 

4/10 1,3 3,4 1-5 

9 �??4D4F=O5 ?D5DO64=<O 6 

<<>D>?D>F5EE>D=OE E<EF5<4E. 

�EF>G=<>< 4??4D4F=OE ?D5-

DO64=<=. 

4/6 1,3 1,2,3 1-5 

10 �>=FD>??5D ?D<>D<F5F=OE 

?D5DO64=<= (���): DG=>F<<, 

EFDG>FGD4 < 4?7>D<F< D45>FO. 

4/8 1,3 2,3 1-5 

11 �E=>6=O5 >E>55==>EF< ��% 

>4> >5N5>F>6 >>=FD>?O. 

44 1,3 1,3,4 1-5 

12 �??4D4F=O5 < ?D>7D4<<=O5 

ED54EF64 4?O D47D45>F>< < >F-

?44>< <<>D>?D>F5EE>D=OE E<-

EF5<. 

6/6 1,3 2,3 1-5 

13 �E=>6=O5 >E>55==>EF< 4DE<-

F5>FGDO ?D>F5EE>D>6 F<DD>-

6>= >5D45>F>< E<7=4?>6. 

4/6 1,3 2,3 1-5 

14 �F5=>4 ?D><76>4<F5?L=>EF< 

<<>D>?D>F5EE>D>6 =4 >E=>65 

5M=G<4D>>6E><E ?D>7D4<<. 

&5EF>64O ?D>7D4<<4 Linpack. 

6/6 1,3 2,3,4 1-5 

15 %FDG>FGD4 < >E>55==>EF< 

DG=>F<>=<D>64=<O E>6D5<5=-

=OE G=<65DE4?L=OE ��. 

6/6 1,3 1,2,3 1-5 

 �E57> 64/96    

64/96- 6 G<E?<F5?5 >>?<G5EF6> G4E>6 E4<>EF>OF5?L=>= D45>FO ?> >G=>= 

D>D<5, 4 6 7=4<5=4F5?5 - ?> 74>G=>= D>D<4< >5GG5=<O. 

 

'G55=>-<5F>4<G5E><5 <4F5D<4?O 4?O E4<>EF>OF5?L=>= D45>FO: 

1. �D<7>DL56 �.�. �<>D>?D>F5EE>DO i486.-�.: �$����, 1993. 

2. �D>4<= �.�., ,47GD<= �.�. �<>D>?D>F5EE>D i486.�DE<F5>FGD4, ?D>-

7D4<<<D>64=<5. �.: "������-��$�", 1993. 

3. ,47GD<= �.�., �5D4OL56 �.�. �D>F5EE>DO E5<5=EF64 Intel P6. 4DE<-

F5>FGD4, ?D>7D4<<<D>64=<5, <=F5DD5=E. 3 �.: �>DOG4O ?<=<O 3 &5?5>><, 2000. 

4. $GE4> �.�., �G7>6E><= �.�. &5E=<G5E><5 ED54EF64 �-��: %?D46>G=<>/ 

�>4 D54.�.�.$GE4>4. - �<=E>: �OL5=L4O L>>?4, 1996. 

5. �G> �. �D>F5EE>DO Intel >F 8086 4> Pentium II. %?5: �<F5D,1997 < ?>-
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E?54GNM<5 <744=<O. 

6. �5FDGE<= �.%.,%F5?G5=>>6..�.,$<?<= �.�. �5DE>=4?L=O5 -�� =4 

>E=>65 4DE<F5>FGDO Intel 80386.� 2-E >=<74E.-�5=<=E>: ���%��, 1993. 

7. �D?>6E><= �.�. �6545=<5 6 4DE<F5>FGDG �� 80386. - %.-�5.: ��$�-

���, 1992. 

8. �D4<< �., �D4<< �. �<>D>?D>F5EE>D 80386 < 57> ?D>7D4<<<D>64=<5.-

�.:�<D,1990. 

9. �4??4E �., �4DD< '. �<>D>?D>F5EE>D 80386.-�.:$44<> < E6O7L, 1993. 

10. %<<F �.-., �6>=E>= �.&. �DE<F5>FGD4 < ?D>7D4<<<D>64=<5 <<>D>-

?D>F5EE>D4 INTEL 80386/ �5D. E 4=7?.-�.:�>=>>D4,1992. 

 

�5F>4<G5E><5 D5>><5=44F<< EFG45=FG > E4<>EF>OF5?L=>= D45>F5. 

 

%4<>EF>OF5?L=4O D45>F4 EFG45=F>6, ?D54GE<>FD5==4O GG55=O< ??4=>< 

6 >5N5<5 =5 <5=55 50-70% >5M57> >>?<G5EF64 G4E>6, E>>F65FEF6G5F 5>?55 7?G-

5>>><G GE6>5=<N <7GG45<>7> >GDE4, D>D<<DG5F =46O>< <EE?54>64F5?LE>>= D4-

5>FO < >D<5=F<DG5F EFG45=F>6 =4 G<5=<5 ?D<<5=OFL F5>D5F<G5E><5 7=4=<O =4 

?D4>F<>5. 

%4<>EF>OF5?L=4O D45>F4 =>E<F E<EF5<4F<G5E><= E4D4>F5D.   

$57G?LF4FO E4<>EF>OF5?L=>= D45>FO >>=FD>?<DGNFEO ?D5?>4464F5?5< < 

GG<FO64NFEO ?D< 4FF5EF4F<< EFG45=F4 (74G5F, M>74<5=). �D< MF>< ?D>6>4OFEO: 

F5EF<D>64=<5, M>E?D5EE->?D>E =4 E5<<=4DE><E < ?D4>F<G5E><E 74=OF<OE, 74E?G-

L<64=<5 4>>?44>6, D5D5D4F>6, ?D>65D>4 ?<EL<5==OE D45>F < F.4. 

�444=<O 4?O E4<>EF>OF5?L=>= D45>FO E>EF46?ONFEO ?> D4745?4< < F5<4<, 

?> >>F>DO< =5 ?D54GE<>FD5=O 4G4<F>D=O5 74=OF<O, ?<5> FD55G5FEO 4>?>?=<-

F5?L=> ?D>D45>F4FL < ?D>4=4?<7<D>64FL D4EE<4FD<645<O= ?D5?>4464F5?5< <4-

F5D<4? 6 >5N5<5 74??4=<D>64==OE G4E>6. 

�?O ?>47>F>6>< > 74=OF<O< < 6O?>?=5=<O E4<>EF>OF5?L=>= D45>FO, EFG-

45=F4< D5>><5=4GNFEO GG55=>-<5F>4<G5E><5 <744=<O, 4 F4>65 <5F>4<G5E><5 

<4F5D<4?O, 6O?GM5==O5 >4D54D>= E6><<< E<?4<< < ?D54>EF46?O5<O5 EFG45=-

F4< 6> 6D5<O 74=OF<= (?D<?>65=<O): 

÷ =47?O4=O5 ?>E>5<O (??4>4FO, F45?<FO - =4 >4D54D5); 

÷ 7?>EE4D<= - E?>64DL F5D<<=>6 ?> F5<4F<>5 4<EF<??<=O; 

÷ F57<EO ?5>F<=. 

%4<>EF>OF5?L=4O D45>F4 E >=<7>=. � =4L5 6D5<O >=<74 EGM5EF6G5F 6 

46GE D>D<4E: FD44<F<>==>= < M?5>FD>==>=. � <=F5D=5F5 EGM5EF6GNF F5?O5 5<5-

?<>F5><, D4E?>?474NM<5 45EOF>4<< FOEOG M?5>FD>==OE F5>EF>6. %57>4=O 6 >5-

M5EF65 ?D5>5?4445F <=5=<5, GF> ?5G4F=4O >=<74 < 55 >><?LNF5D=O= F5>EF 4>-

?>?=ONF 4DG7 4DG74. �E?>?L7GO M?5>FD>==O= 64D<4=F >=<7< 7=4G<F5?L=> 5OEFD55 

?>47>F>6<FL =4 57> 5475 D5D5D4F, >>=FD>?L=GN D45>FG, ?>4>7=4FL F5>EF E6>5= D4-

5>FO ?>4 FD55G5<O= GG55=O< 7444=<5< >5N5<. �5G4F=O5 >=<7< 7>D474> ?57G5 < 

G4>5=55 G<F4FL.  

$45>F4 E >=<7>=, EFG45=FO EF4?><64NFEO E DO4>< ?D>5?5<. �4=4 <7 =<E 3 

>4>4O >=<74 ?GGL5. &5?5E>>5D47=> 6 ?5D6GN >G5D54L >5D4F<FLEO > ?<F5D4FGD5, 

D5>><5=4>64==>= ?D5?>4464F5?5<. &5?5E>>5D47=> ?D>G<F4FL 4==>F4F<N > >=<75 
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=4 55 EFD4=<F4E, 6 >>F>D>= G>474=>, >><G < 4?O >4><E F5?5= >=4 <>65F 5OFL ?>-

?57=4. 

�DG74O ?D>5?5<4 3 >4> MDD5>F<6=> GE6><FL <4F5D<4? >=<7<. �4G5EF6> 

GE6>5=<O GG55=>7> <4F5D<4?4 EGM5EF65==> 746<EOF >F <4=5DO ?D>GF5=<O >=<7<. 

�>6=> 6O45?<FL ?OFL >E=>6=OE ?D<5<>6 D45>FO E ?<F5D4FGD>=: 

'F5=<5-?D>E<>FD <E?>?L7G5FEO 4?O ?D5464D<F5?L=>7> >7=4>><?5=<O E >=<-

7>=, >F5=>< 55 F5==>EF<. �= ?D54?>?4745F >7=4>><?5=<5 E 4==>F4F<5=, ?D54<-

E?>6<5<, >7?46?5=<5<, 74>?NG5=<5< >=<7<, ?><E> ?> >7?46?5=<N =4<5>?55 646-

=OE <OE?5= < 6O6>4>6 46F>D4 ?D><76545=<O. 

�O5>D>G=>5 GF5=<5 ?D54?>?4745F <75<D4F5?L=>5 GF5=<5 >F45?L=OE D4745-

?>6 F5>EF4. -F>F <5F>4 <E?>?L7G5FEO, >4> ?D46<?>, ?>E?5 ?D5464D<F5?L=>7> ?D>-

E<>FD4 >=<7<, ?D< 55 6F>D<G=>< GF5=<<. 

%>4=<D>64=<5 ?D54EF46?O5F 5OEFDO= ?D>E<>FD >=<7< E F5?LN ?><E>4 D4-

<<?<<, D4>F4, >F5=>< < 4D.  

'7?G5?5==>5 GF5=<5 ?D54?>?4745F >5D4M5=<5 6=<<4=<O =4 45F4?< E>45D-

64=<O F5>EF4, 57> 4=4?<7 < >F5=>G. %>>D>EFL ?>4>5=>7> 6<44 GF5=<O E>EF46?O5F 

>D<5=F<D>6>G=> 4> 7-10 EFD4=<F 6 G4E. �=4 <>65F 5OFL < 6OL5, 5E?< G<F4F5?L 

G65 >5?4445F >?D545?5==O< 7=4=<5< ?> F5<5 >=<7< <?< EF4FL<. 

'7?G5?5==>5 GF5=<5 ?<F5D4FGDO ?D54?>?4745F:  

÷ %FD5<?5=<5 > ?>=<<4=<N ?D>G<F4==>7>. �57 ?>=<<4=<O E<OE?4, ?D>G<-

F4==>7> <=D>D<4F<N 55 >G5=L FDG4=> 74?><=<FL. 

÷ �54G<O64=<5 <7?>65==>= 6 >=<75 <=D>D<4F<<. &>744 E>5EF65==O5 

<OE?<, 6>7=<>L<5 6 E>45 7=4>><EF64 E GG6<<< D45>F4<<, ?>E?G64F >E=>6=>= 

4?O ?>?GG5=<O =>6>7> 7=4=<O. 

÷ �OE?5==>5 6O45?5=<5 >?NG56OE E?>6, <45= D474D>5?5=<5 E>45D64=<O 

F5>EF4 =4 ?>7<G5E><5 5?>><, E>EF46?5=<5 ??4=4 ?D>G<F4==>7>. �E?< EFG45=F <<5-

5F 45?> E ?<G=>= >=<7>=, F> >?NG56O5 E?>64 < <OE?< <>6=> ?>4G5D>=GFL >4D4=-

44L><. 

÷ %>EF46?5=<5 >>=E?5>F4 <7GG5==>7> <4F5D<4?4. �E?< EF4FLO <?< D4745? 

>=<7< ?> >5N5<G =55>?LL>=, F> F5?5E>>5D47=> ?D<EFG?<FL > >>=E?5>F<D>64=<N, 

?D>G<F46 <E ?>?=>EFLN. � 4DG7<E E?GG4OE 65?4F5?L=> ?D>G<F4FL 7-10 EFD4=<F. 

 

7. $>=4O >F5=>G=OE ED54EF6 

7.1 �5D5G5=L >><?5F5=F<= E G>474=<5< MF4?>6 <E D>D<<D>64=<O 6 ?D>F5E-

E5 >E6>5=<O >5D47>64F5?L=>= ?D>7D4<<O 

 
%5<5EFD 

(>GDE) 

�<EF<??<=O /M?5<5=FO ?D>7D4<<O (?D4>F<><, ���), GG4EF6GNM<5 6 D>D<<D>64=<< >><-

?5F5=F<< 

��-10 %?>E>55= 6=5EF< < >>DD5>F<D>64FL <=D>D<4F<N >5 �&% 6 547G 44==OE >D74=<74F<< <77>F>6<-

F5?O �&% E <E?>?L7>64=<5< E>6D5<5==OE F5E=>?>7<= 

��-1��-10 �E?>?L7G5F E>6D5<5==O5 < <=D>D<4F<>==O5 F5E=>?>7<< < ?4>5FO ?D<>?44=OE ?D>7D4<< 

6 E6>5= ?D54<5F=>= >5?4EF< 

6(3) %<EF5<O <E>GEEF65==>7> <=F5??5>F4 

6(3) -?5>FD<G5E><5 < M?5>FD>==O5 4??4D4FO, G4EFL 2 

6(3) �<>D>?D>F5EE>D=O5 ED54EF64 6 M?5>FD>F5E=<>5 

8(5) �E?OF4=<O M?5>FD>>5>DG4>64=<O 46F><>5<?5= < FD4>F>D>6 

5(3) �>=FD>?L=>-4<47=>EF<G5E>>5 >5>DG4>64=<5 

4(2) �><?LNF5D=>5 <>45?<D>64=<5 <=65=5D=OE 7444G 
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8(5) �E=>6O >?F<>< < E65F>F5E=<>< 

8(5) �><?LNF5D=4O 7D4D<>4 

8(5) �D544<??><=4O ?D4>F<>4 

8(5) �>47>F>6>4 > ?D>F54GD5 74M<FO < 74M<F4 6O?GE>=>= >64?<D<>4F<>==>= D45>FO 

7(5) �<47=>EF<>4 M?5>FD>>5>DG4>64=<O 46F><>5<?5= < FD4>F>D>6 

��-2��10 G?D46?O5F <=D>D<4F<5= E ?D<<5=5=<5< ?D<>?44=OE ?D>7D4<< < ?D<<5=O5F E5F56O5 >><-

?LNF5D=O5 F5E=>?>7<< 

6(3) -?5>FD<G5E><5 < M?5>FD>==O5 4??4D4FO, G4EFL 2 

6(3) �<>D>?D>F5EE>D=O5 ED54EF64 6 M?5>FD>F5E=<>5 

8(5) �E?OF4=<O M?5>FD>>5>DG4>64=<O 46F><>5<?5= < FD4>F>D>6 

5(3) �>=FD>?L=>-4<47=>EF<G5E>>5 >5>DG4>64=<5 

4(2) �><?LNF5D=>5 <>45?<D>64=<5 <=65=5D=OE 7444G 

8(5) �E=>6O >?F<>< < E65F>F5E=<>< 

8(5) �><?LNF5D=4O 7D4D<>4 

8(5) �D544<??><=4O ?D4>F<>4 

8(5) �>47>F>6>4 > ?D>F54GD5 74M<FO < 74M<F4 6O?GE>=>= >64?<D<>4F<>==>= D45>FO 

7(5) �<47=>EF<>4 M?5>FD>>5>DG4>64=<O 46F><>5<?5= < FD4>F>D>6 

��-3��-10 �5<>=EFD<DG5F 7=4=<O 6 ?D<<5=5=<< ?D<>?44=OE ?D>7D4<< < <E?>?L7>64=<< E5F56OE 

>><?LNF5D=OE F5E=>?>7<= 

6(3) -?5>FD<G5E><5 < M?5>FD>==O5 4??4D4FO, G4EFL 2 

6(3) �<>D>?D>F5EE>D=O5 ED54EF64 6 M?5>FD>F5E=<>5 

8(5) �E?OF4=<O M?5>FD>>5>DG4>64=<O 46F><>5<?5= < FD4>F>D>6 

5(3) �>=FD>?L=>-4<47=>EF<G5E>>5 >5>DG4>64=<5 

8(5) �E=>6O >?F<>< < E65F>F5E=<>< 

8(5) �><?LNF5D=4O 7D4D<>4 

8(5) �D544<??><=4O ?D4>F<>4 

8(5) �>47>F>6>4 > ?D>F54GD5 74M<FO < 74M<F4 6O?GE>=>= >64?<D<>4F<>==>= D45>FO 

7(5) �<47=>EF<>4 M?5>FD>>5>DG4>64=<O 46F><>5<?5= < FD4>F>D>6 

 

7.2 �?<E4=<5 ?>>474F5?5= < >D<F5D<56 >F5=<64=<O>><?5F5=F<= 
�>>474-

F5?< 

�D<F5D<< >F5=<64=<O 

,>4?4 ?> FD44<F<>==>= ?OF<54??L=>= E<EF5<5 

4>?>D>7>-

6O=(«=5G4>6?5F6

>D<F5?L=>») 

�>D>7>6O= 

(«G4>6?5F6>D<F5?L-

=>») 

�D>46<=GFO= 

(«E>D>L>») 

�OE>><= 

(«>F?<G=>») 

��-10 %?>E>55= 6=5EF< < >>DD5>F<D>64FL <=D>D<4F<N >5 �&% 6 547G 44==OE >D74=<74F<< <77>F>-

6<F5?O �&% E <E?>?L7>64=<5< E>6D5<5==OE F5E=>?>7<= 

��-1��-10 �E?>?L7G5F E>6D5<5==O5 < <=D>D<4F<>==O5 F5E=>?>7<< < ?4>5FO ?D<>?44=OE ?D>-

7D4<< 6 E6>5= ?D54<5F=>= >5?4EF< 

�=4=<O �FEGFEF6<5 <?< 

=4?<G<5 DD47<5=-

F4D=OE 7=4=<=, 

?D54GE<>FD5==OE 

44==>= >><?5F5=-

F<5= 

�=45F, >4> <E?>?L7>64FL 

E>6D5<5==O5 < <=D>D-

<4F<>==O5 F5E=>?>7<< 

< ?4>5FO ?D<>?44=OE 

?D>7D4<< 6 E6>5= 

?D54<5F=>= >5?4EF<E 

EGM5EF65==O<< >L<5-

>4<< 

�=45F, >4> <E?>?L7>-

64FL E>6D5<5==O5 < 

<=D>D<4F<>==O5 F5E-

=>?>7<< < ?4>5FO ?D<-

>?44=OE ?D>7D4<< 6 

E6>5= ?D54<5F=>= >5-

?4EF<E =5EGM5EF65=-

=O<< >L<5>4<< 

�=45F>4> <E?>?L7>-

64FL E>6D5<5==O5 < 

<=D>D<4F<>==O5 

F5E=>?>7<< < ?4>5-

FO ?D<>?44=OE 

?D>7D4<< 6 E6>5= 

?D54<5F=>= >5?4-

EF<=4 6OE>>>< 

GD>6=5 

'<5=<O �FEGFEF6<5 G<5-

=<=, ?D54GE<>F-

D5==OE 44==>= 

>><?5F5=F<5= 

'<55F <E?>?L7>64FL 

E>6D5<5==O5 < <=D>D-

<4F<>==O5 F5E=>?>7<< 

< ?4>5FO ?D<>?44=OE 

?D>7D4<< 6 E6>5= 

?D54<5F=>= >5?4EF< E 

EGM5EF65==O<< 74-

FDG4=5=<O<<. 

'<55F <E?>?L7>64FL 

E>6D5<5==O5 < <=D>D-

<4F<>==O5 F5E=>?>7<< 

< ?4>5FO ?D<>?44=OE 

?D>7D4<< 6 E6>5= 

?D54<5F=>= >5?4EF<E 

=5>>F>DO<< 74FDG4=5-

=<O<< 

'<55F <E?>?L7>64FL 

E>6D5<5==O5 < <=-

D>D<4F<>==O5 F5E-

=>?>7<< < ?4>5FO 

?D<>?44=OE ?D>-

7D4<< 6 E6>5= 

?D54<5F=>= >5?4EF< 

=4 6OE>>>< GD>6=5 

�46O>< �FEGFEF6<5 <?< 

=4?<G<5 DD47<5=-

F4D=OE =46O>>6, 

?D54GE<>FD5==OE 

44==>= >><?5F5=-

�?4455F =46O>4<< <E-

?>?L7>64=<O E>6D5<5=-

=O5 < <=D>D<4F<>==O5 

F5E=>?>7<< < ?4>5FO 

?D<>?44=OE ?D>7D4<< 6 

�?4455F=46O>4<< <E-

?>?L7>64=<O E>6D5<5=-

=O5 < <=D>D<4F<>=-

=O5 F5E=>?>7<< < ?4-

>5FO ?D<>?44=OE ?D>-

�?4455F=46O>4<< 

<E?>?L7>64=<O E>-

6D5<5==O5 < <=-

D>D<4F<>==O5 F5E-

=>?>7<< < ?4>5FO 
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F<5= E6>5= ?D54<5F=>= >5?4-

EF<=4 =<7>>< GD>6=5. 

7D4<< 6 E6>5= ?D54-

<5F=>= >5?4EF<E =5>>-

F>DO<< 74FDG4=5=<O<< 

?D<>?44=OE ?D>-

7D4<< 6 E6>5= 

?D54<5F=>= >5?4-

EF<6 ?>?=>< >5N5<5 

��-2��10 '?D46?O5F <=D>D<4F<5= E ?D<<5=5=<5< ?D<>?44=OE ?D>7D4<< < ?D<<5=O5F E5F56O5 

>><?LNF5D=O5 F5E=>?>7<< 

�=4=<O �FEGFEF6<5 <?< 

=4?<G<5 DD47<5=-

F4D=OE 7=4=<=, 

?D54GE<>FD5==OE 

44==>= >><?5F5=-

F<5= 

�=45F,>4> G?D46?OFL 

<=D>D<4F<5= E ?D<<5-

=5=<5< ?D<>?44=OE 

?D>7D4<< < ?D<<5=O5F 

E5F56O5 >><?LNF5D=O5 

F5E=>?>7<<E EGM5-

EF65==O<< >L<5>4<< 

�=45F,>4> G?D46?OFL 

<=D>D<4F<5= E ?D<<5-

=5=<5< ?D<>?44=OE 

?D>7D4<< < ?D<<5=O5F 

E5F56O5 >><?LNF5D=O5 

F5E=>?>7<<E =5EGM5-

EF65==O<< >L<5>4<< 

�=45F,>4> G?D46?OFL 

<=D>D<4F<5= E 

?D<<5=5=<5< ?D<-

>?44=OE ?D>7D4<< 

< ?D<<5=O5F E5F5-

6O5 >><?LNF5D=O5 

F5E=>?>7<<=4 6OE>-

>>< GD>6=5 

'<5=<O �FEGFEF6<5 G<5-

=<=, ?D54GE<>F-

D5==OE 44==>= 

>><?5F5=F<5= 

'<55F G?D46?OFL <=-

D>D<4F<5= E ?D<<5=5-

=<5< ?D<>?44=OE ?D>-

7D4<< < ?D<<5=O5F E5-

F56O5 >><?LNF5D=O5 

F5E=>?>7<<E EGM5-

EF65==O<< 74FDG4=5=<-

O<<. 

'<55F 6?445FL G?D46-

?OFL <=D>D<4F<5= E 

?D<<5=5=<5< ?D<>?44-

=OE ?D>7D4<< < ?D<-

<5=O5F E5F56O5 >><-

?LNF5D=O5 F5E=>?>7<-

<E =5>>F>DO<< 74FDG4-

=5=<O<< 

'<55F G?D46?OFL 

<=D>D<4F<5= E 

?D<<5=5=<5< ?D<-

>?44=OE ?D>7D4<< 

< ?D<<5=O5F E5F5-

6O5 >><?LNF5D=O5 

F5E=>?>7<<=4 6OE>-

>>< GD>6=5 

�46O>< �FEGFEF6<5 <?< 

=4?<G<5 DD47<5=-

F4D=OE =46O-

>>6,?D54GE<>FD5=

=OE 44==>= >><-

?5F5=F<5= 

�?4455F =46O>4<< 

G?D46?5=<O <=D>D<4-

F<5= E ?D<<5=5=<5< 

?D<>?44=OE ?D>7D4<< 

< ?D<<5=O5F E5F56O5 

>><?LNF5D=O5 F5E=>-

?>7<<=4 =<7>>< GD>6=5. 

�?4455F=46O>4<< 

G?D46?5=<O <=D>D<4-

F<5= E ?D<<5=5=<5< 

?D<>?44=OE ?D>7D4<< 

< ?D<<5=O5F E5F56O5 

>><?LNF5D=O5 F5E=>-

?>7<<E =5>>F>DO<< 

74FDG4=5=<O<< 

�?4455F=46O>4<< 

G?D46?5=<O <=D>D-

<4F<5= E ?D<<5=5-

=<5< ?D<>?44=OE 

?D>7D4<< < ?D<<5-

=O5F E5F56O5 >><-

?LNF5D=O5 F5E=>-

?>7<<6 ?>?=>< >5N-

5<5 

��-3��-10 �5<>=EFD<DG5F 7=4=<O 6 ?D<<5=5=<< ?D<>?44=OE ?D>7D4<< < <E?>?L7>64=<< E5F56OE 

>><?LNF5D=OE F5E=>?>7<= 

�=4=<O �FEGFEF6<5 <?< 

=4?<G<5 DD47<5=-

F4D=OE 7=4=<=, 

?D54GE<>FD5==OE 

44==>= >><?5F5=-

F<5= 

�=45F,>4> 45<>=EFD<D>-

64FL 7=4=<O 6 ?D<<5=5-

=<< ?D<>?44=OE ?D>-

7D4<< < <E?>?L7>64=<< 

E5F56OE >><?LNF5D=OE 

F5E=>?>7<=E EGM5-

EF65==O<< >L<5>4<< 

�=45F,>4> 45<>=EFD<-

D>64FL 7=4=<O 6 ?D<<5-

=5=<< ?D<>?44=OE 

?D>7D4<< < <E?>?L7>-

64=<< E5F56OE >><?L-

NF5D=OE F5E=>?>7<=E 

=5EGM5EF65==O<< 

>L<5>4<< 

�=45F,>4> 45<>=-

EFD<D>64FL 7=4=<O 6 

?D<<5=5=<< ?D<-

>?44=OE ?D>7D4<< 

< <E?>?L7>64=<< 

E5F56OE >><?LN-

F5D=OE F5E=>?>-

7<==4 6OE>>>< 

GD>6=5 

'<5=<O �FEGFEF6<5 G<5-

=<=, ?D54GE<>F-

D5==OE 44==>= 

>><?5F5=F<5= 

'<55F 6OO6?OFL 45<>=-

EFD<D>64FL 7=4=<O 6 

?D<<5=5=<< ?D<>?44-

=OE ?D>7D4<< < <E-

?>?L7>64=<< E5F56OE 

>><?LNF5D=OE F5E=>-

?>7<=E EGM5EF65==O<< 

74FDG4=5=<O<< 

'<55F 45<>=EFD<D>-

64FL 7=4=<O 6 ?D<<5=5-

=<< ?D<>?44=OE ?D>-

7D4<< < <E?>?L7>64=<< 

E5F56OE >><?LNF5D=OE 

F5E=>?>7<=E =5>>F>-

DO<< 74FDG4=5=<O<< 

'<55F 45<>=EFD<-

D>64FL 7=4=<O 6 

?D<<5=5=<< ?D<-

>?44=OE ?D>7D4<< 

< <E?>?L7>64=<< 

E5F56OE >><?LN-

F5D=OE F5E=>?>-

7<==4 6OE>>>< 

GD>6=5 

�46O>< �FEGFEF6<5 <?< 

=4?<G<5 DD47<5=-

F4D=OE =46O>>6, 

?D54GE<>FD5==OE 

44==>= >><?5F5=-

F<5= 

�?4455F =46O>4<< 45-

<>=EFD<D>64=<O 7=4=<= 

6 ?D<<5=5=<< ?D<>?44-

=OE ?D>7D4<< < <E-

?>?L7>64=<< E5F56OE 

>><?LNF5D=OE F5E=>-

?>7<==4 =<7>>< GD>6=5 

�?4455F =46O>4<< 45-

<>=EFD<D>64=<O 7=4-

=<= 6 ?D<<5=5=<< ?D<-

>?44=OE ?D>7D4<< < 

<E?>?L7>64=<< E5F56OE 

>><?LNF5D=OE F5E=>-

?>7<=6 4>EF4F>G=>< 

>5N5<5 

�?4455F =46O>4<< 

45<>=EFD<D>64=<O 

7=4=<= 6 ?D<<5=5-

=<< ?D<>?44=OE 

?D>7D4<< < <E?>?L-

7>64=<< E5F56OE 

>><?LNF5D=OE F5E-

=>?>7<=6 ?>?=>< 

>5N5<5 
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7.3 &<?>6O5 >>=FD>?L=O5 7444=<O 

&5EFO 4?O F5>GM57> < ?D><56GF>G=>7> >>=FD>?O 
 

1. �D>F5EE>D <<55F 7 D57<EFD>6 >5M57> =47=4G5=<O. %>>?L>> D47DO4>6 6 ?>?5 >><4=4O =5>5-

E>4<<O5 4?O 44D5E4F<< > =<<. 

4) 7; 5) 4; 6) 3;+ 7) 8 

 

2. �D>F5EE>D <<55F 14 D57<EFD>6 >5M57> =47=4G5=<O. %>>?L>> D47DO4>6 6 ?>?5 >><4=4O =5-

>5E>4<<O5 4?O 44D5E4F<< > =<<. 

4) 7; 5) 4;+ 6) 3; 7) 8 

 

3. �D>F5EE>D <<55F 16 D47DO4>6 L<=O 44D5E4 < 8 D47DO4>6 L<=O 44==OE. �4>>= >5N5< ?4<O-

F<, 44D5EG5FEO. 

4) 64�E8;+ 5) 8�E8; 6) 2�E4; 7) 8�E4 

 

4. �D>F5EE>D <<55F 13 D47DO4>6 L<=O 44D5E4 < 8 D47DO4>6 L<=O 44==OE. �4>>= >5N5< ?4<O-

F<, 44D5EG5FEO. 5 

4) 64�E8; 5) 8�E8;+ 6) 2�E4; 7) 8�E4 

 

5.�D>F5EE>D <<55F 11 D47DO4>6 L<=O 44D5E4 < 4 D47DO4>6 L<=O 44==OE. �4>>= >5N5< ?4<O-

F<, 44D5EG5FEO. 

4) 64�E8; 5) 8�E8; 6) 2�E4; + 7) 8�E4 

 

6.�D54EF46<FL 45EOF<G=>5 G<E?> 45 6 46><G=>< >>45. 

4) 101101; + 5) 110010; 6) 100011; 7) 111010. 

 

7.�D54EF46<FL 45EOF<G=>5 G<E?> 50 6 46><G=>< >>45. 

4) 101101; 5) 110010; + 6) 100011; 7) 111010. 

 

8.�D54EF46<FL 45EOF<G=>5 G<E?> 35 6 46><G=>< >>45. 

4) 101101; 5) 110010; 6) 100011; + 7) 111010. 

 

9. �D54EF46<FL 45EOF<G=>5 G<E?> 58 6 46><G=>< >>45. 

4) 101101; 5) 110010; 6) 100011; 7) 111010. + 

 

10. %>>?L>> 44D5E=OE 6E>4>6 <<55F <<>D>EE5<4 ?4<OF< 8�E8. 

4) 8; 5) 11; 6) 13; + 7) 16 

 

11. %>>?L>> 44D5E=OE 6E>4>6 <<55F <<>D>EE5<4 ?4<OF< 256E4. 

4) 8; + 5) 11; 6) 13; 7) 16 

 

12. %>>?L>> 44D5E=OE 6E>4>6 <<55F <<>D>EE5<4 ?4<OF< 2�E8. 

4) 8; 5) 11; + 6) 13; 7) 16 

 

13. %>>?L>> 44D5E=OE 6E>4>6 <<55F <<>D>EE5<4 ?4<OF< 64�E1. 

4) 8; 5) 11; 6) 13; 7) 16+ 

 

14. �D54EF46<FL 45EOF<G=>5 G<E?> 42 6 46><G=>< >>45. 

4) 101101; 5) 110010; 6) 101010; + 7) 111010. 

 

15. �D54EF46<FL 45EOF<G=>5 G<E?> 53 6 46><G=>< >>45. 

4) 101101; 5) 110010; 6) 100011; 7) 110101.+ 
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16.  �4>>= D56<< <<>D>?D>F5EE>D=OE E<EF5< <E?>?L7G5FEO 4?O ?5D544G< 5>?LL<E <4EE<6>6 

<=D>D<4F<< <564G ?4<OFLN < 6=5L=<< GEFD>=EF6><. 

4) >6<44=<O; 

5) ?D5DO64=<O; 

6) ?DO<>7> 4>EFG?4 > ?4<OF<; 

7) ?DO<>= ?5D544G< 44==OE. + 

 

17. �4>>= D56<< <<>D>?D>F5EE>D=OE E<EF5< <E?>?L7G5FEO 4?O ?5D544G< 5>?LL<E <4EE<6>6 

<=D>D<4F<< <564G 6=5L=<<< GEFD>=EF64<<. 7 

4) >6<44=<O; 

5) ?D5DO64=<O; 

6) ?DO<>7> 4>EFG?4 > ?4<OF<; 

7) ?DO<>= ?5D544G< 44==OE. + 

18.  $56<< D45>FO <<>D>?D>F5EE>D=OE E<EF5< =5 FD55G5F >5D4M5=<O > 6=5L=<< GEFD>=-

EF64< 4 

4) 6=5L=<=;+ 

5) ?D5DO64=<O; 

6) ?DO<>7> 4>EFG?4 > ?4<OF<; 

7) ?DO<>= ?5D544G< 44==OE. 

19. $56<< D45>FO <<>D>?D>F5EE>D=OE E<EF5< ?>76>?O5F >5D45>F>G <=D>D<4F<< ?> ?D<>D<-

F5FG 

4) 6=5L=<=; 

5) ?D5DO64=<O;+ 

6) ?DO<>7> 4>EFG?4 > ?4<OF<; 

7) ?DO<>= ?5D544G< 44==OE. 

20. �4>>6> =47=4G5=<5 >>=FD>??5D4 ?DO<>7> 4>EFG?4 > ?4<OF< 

4) GE>>D<FL >5<5= <564G ?4<OFLN < 6=5L=<< GEFD>=EF6><; + 

5) ED>G=>5 >5E?G6<64=<5 6=5L=57> GEFD>=EF64; 

6) 6OD45>F>4 6D5<5==OE 7445D65>; 

7) >D74=<74F<O >5<5=4 6 ?>E?54>64F5?L=>< >>45. 

21. �4>>6> =47=4G5=<5 >>=FD>??5D4 ?D<>D<F5F=OE ?D5DO64=<= 

4) GE>>D<FL >5<5= <564G ?4<OFLN < 6=5L=<< GEFD>=EF6><; 

5) ED>G=>5 >5E?G6<64=<5 6=5L=57> GEFD>=EF64;+ 

6) 6OD45>F>4 6D5<5==OE 7445D65>; 

7) >D74=<74F<O >5<5=4 6 ?>E?54>64F5?L=>< >>45. 

22. �4>>6> =47=4G5=<5 ?D>7D4<<=>7> F4=<5D4 6 

4) GE>>D<FL >5<5= <564G ?4<OFLN < 6=5L=<< GEFD>=EF6><; 

5) ED>G=>5 >5E?G6<64=<5 6=5L=57> GEFD>=EF64; 

6) 6OD45>F>4 6D5<5==OE 7445D65>;+ 

7) >D74=<74F<O >5<5=4 6 ?>E?54>64F5?L=>< >>45. 

 

'F65D644N: 

�46. >4D54D>=_____________ 

�>?D>EO > 74G5FG 

 

I. �5M<5 ?>?>65=<O 

1. �<>D>?D>F5EE>D < 57> 4DE<F5>FGD4. 

2. &<?O �� ��% 

3. '=<65DE4?L=O5 <<>D>?D>F5EE>DO < <E >E=>6=O5 E4D4>F5D<EF<><. 

4. �4=>>D<EF4?L=O5 <<>D>>>=FD>??5DO: >E>55==>EF< 4DE<F5>FGDO, >E=>6=O5 E4-

D4>F5D<EF<><, >5?4EFL ?D<<5=5=<O. 
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2. �4=>>D<EF4?L=O5 <<>D>>>=FD>??5DO 

1. %FDG>FGD4 <<>D>>>=FD>??5D4 F<?4 ��-51. �E=>6=O5 DG=>F<>=4?L=O5 5?>>< < <E 

=47=4G5=<5. 

2. �D74=<74F<O ?4<OF< ?D>7D4<< < ?4<OF< 44==OE. 

3. �??4D4F=O5 < ?D>7D4<<=O5 ED54EF64 <<>D>>>=FD>??5D4 4?O >5D45>F>< 5<F>6>= 

<=D>D<4F<< 

4. %<EF5<4 ?D5DO64=<O. 

5. �?>> F4=<5D>6/EG5FG<>>6: =47=4G5=<5, EFDG>FGD4, D56<<O D45>FO, ?D<<5=5=<5. 

6. �D74=<74F<O ?>E?54>64F5?L=>7> 66>44/6O6>44 6 <<>D>>>=FD>??5D5. 

3. '=<65DE4?L=O5 <<>D>?D>F5EE>DO 

1. %FDG>FGD4 G=<65DE4?L=>7> ��. �E=>6=O5 DG=>F<>=4?L=O5 5?>>< < <E =47=4G5-

=<5. 

2. $57<EFD>64O EFDG>FGD4 32-D47DO4=>7> ��. 

3. �D74=<74F<O ?4<OF<. $<7<G5E>>5 44D5E=>5 ?D>EFD4=EF6>. �>7<G5E>>5 44D5E=>5 

?D>EFD4=EF6> (���): ?<=5==>5, E57<5=F<D>64==>5, EFD4=<G=>5, E57<5=F=>-EFD4=<G=>5. 

4. %FDG>FGD4 ?>7<G5E>>7> 44D5E4 6 E57<5=F<D>64==>< ���. %5?5>F>D, 45E>D<?F>D 

E57<5=F4, E<5M5=<5. �47=4G5=<5 < EFDG>FGD4 7?>54?L=>= < ?>>4?L=OE F45?<F 45E>D<?F>D>6. 

$>D<<D>64=<5 ?<=5==>7> < D<7<G5E>>7> 44D5E4 6 E57<5=F<D>64==>< ���. �ML<D>64=<5 45-

E>D<?F>D>6. 

5. %FDG>FGD4 D4EL<D5==>7> >>44 >><4=4O x86. �OG<E?5=<5 ?D>F5EE>D>< E<5M5=<O. 

6. �<DFG4?L=4O ?4<OFL. %FD4=<G=>5 ���. %FDG>FGD4 ?<=5==>7> 44D5E4 6 EFD4=<G-

=>< ���. �47=4G5=<5 >4F4?>74 F45?<F EFD4=<F < F45?<F EFD4=<F. 

7. &D4=E?OF<O ?<=5==>7> 44D5E4 6 D<7<G5E><= ?D< EFD4=<G=>= >D74=<74F<< ?4<OF<. 

%FDG>FGD4 M?5<5=F4 >4F4?>74 F45?<F EFD4=<F < M?5<5=F4 F45?<FO EFD4=<F. 

8. �5E4=<7<O 74M<FO 6 32-D47DO4=>< <<>D>?D>F5EE>D5. �4M<F4 ?D< G?D46?5=<< 

?4<OFLN. �4M<F4 ?> ?D<6<?57<O<. �5E4=<7<O ?5D544G< G?D46?5=<O <564G ?D>7D4<<4<< =4 

D47=OE GD>6=OE ?D<6<?57<=. ,?N7 6O7>64. 

9. �=>7>7444G=O= D56<< D45>FO <<>D>?D>F5EE>D4, 4??4D4F=O5 ED54EF64 ?>445D6>< 

<=>7>7444G=>EF<: D57<EFD 7444G<, 45E>D<?F>D E57<5=F4 E>EF>O=<O 7444G<, E57<5=F E>EF>O=<O 

7444G<. �5E4=<7< ?5D5>?NG5=<O 7444G. 

10. �47=4G5=<5, ?D<=F<?O D45>FO < >D74=<74F<O >ML-?4<OF<. &<?O >ML-?4<OF<. 

%?>E>5O >D74=<74F<< >ML<D>64=<O (E>6>7=4O < >5D4F=4O 74?<EL). �D74=<74F<O 6=GFD5==5= 

>ML-?4<OF<. 

11. �D5DO64=<O < <E>?NG5=<O 6 ��%. $G=>F<>=<D>64=<5 <<>D>?D>F5EE>D4 ?D< >5-

D45>F>5 ?D5DO64=<= < <E>?NG5=<=. &45?<F4 65>F>D>6 ?D5DO64=<=. �5E>D<?F>D=4O F45?<F4 

?D5DO64=<=. 

12. �??4D4F=O5 ?D5DO64=<O 6 <<>D>?D>F5EE>D=OE E<EF5<4E. �EF>G=<>< 4??4D4F=OE 

?D5DO64=<= 6 EF4=44DF=>= >>=D<7GD4F<< ��%. �>=FD>??5D ?D<>D<F5F=OE ?D5DO64=<= 

(���): DG=>F<<, EFDG>FGD4 < 4?7>D<F< D45>FO. �>?NG5=<5 ��� 6 EFDG>FGDG <<>D>?D>F5E-

E>D=>= E<EF5<O. �4E>44=>5 6>?NG5=<5 >>=FD>??5D>6 ?D<>D<F5F=OE ?D5DO64=<=. 

13. �5<5= <=D>D<4F<5= 6 D56<<5 ?DO<>7> 4>EFG?4 6 ?4<OFL. %FDG>FGD4 < DG=>F<>-

=<D>64=<5 >>=FD>??5D4 ?DO<>7> 4>EFG?4 6 ?4<OFL. �4E>44=>5 6>?NG5=<5 >>=FD>??5D>6 ?DO-

<>7> 4>EFG?4 6 ?4<OFL. 

14. $G=>F<< G<?E5F4. %FDG>FGD4 <<>D>?D>F5EE>D=>= E<EF5<O ?D< <E?>?L7>64=<< 

G<?E5F4. 

 

7.4 �5F>4<>4 >F5=<64=<O 7=4=<=, G<5=<=, =46O>>6 

�F5=>4 7=4=<=, G<5=<= < =46O>>6 < (<?<) >?OF4 45OF5?L=>EF<, E4D4>F5D<7GNM<E MF4?O 

D>D<<D>64=<O >><?5F5=F<= ?> 4<EF<??<=5 ?D>6>4OFEO 6 D>D<5 F5>GM57> >>=FD>?O < ?D>-

<56GF>G=>= 4FF5EF4F<<. &5>GM<= >>=FD>?L ?D>6>4<FEO 6 F5G5=<5 E5<5EFD4 E F5?LN >?D545-

?5=<O GD>6=O GE6>5=<O >5GG4NM<<<EO 7=4=<=, D>D<<D>64=<O G<5=<= < =46O>>6, E6>56D5-

<5==>7> 6OO6?5=<O ?D5?>4464F5?5< =54>EF4F>>6 6 ?>47>F>6>5 >5GG4NM<EEO < ?D<=OF<O =5-
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>5E>4<<OE 5D ?> 55 >>DD5>F<D>6>5, 4 F4>65 4?O E>65DL5=EF6>64=<O <5F>4<>< >5GG5=<O, >D-

74=<74F<< GG55=>= D45>FO < >>474=<O <=4<6<4G4?L=>= ?><>M< >5GG4NM<<<EO. 

�D<F5D<< >F5=>< 7=4=<= EFG45=F>6 ?D< ?D>6545=<< F5EF<D>64=<O 

�F5=>4 «>F?<G=>» 6OEF46?O5FEO ?D< GE?>6<< ?D46<?L=>7> >F65F4 EFG45=F4 =5 <5=55 

G5< 85% F5EF>6OE 7444=<=. 

�F5=>4 «E>D>L>» 6OEF46?O5FEO ?D< GE?>6<< ?D46<?L=>7> >F65F4 EFG45=F4 =5 <5=55 

G5< 70% F5EF>6OE 7444=<=. 

�F5=>4 «G4>6?5F6>D<F5?L=>» 6OEF46?O5FEO ?D< GE?>6<< ?D46<?L=>7> >F65F4 EFG45=F4 

=5 <5=55 G5< 50% F5EF>6OE 7444=<=. 

�F5=>4 «=5G4>6?5F6>D<F5?L=>» 6OEF46?O5FEO ?D< GE?>6<< ?D46<?L=>7> >F65F4 EFG-

45=F4 <5=55 G5< 50% F5EF>6OE 7444=<=. 

 

�D<F5D<< >F5=>< >F65F>6 =4 74G5F5  

�F5=>4 «74G5F» 6OEF46?O5FEO EFG45=FG, >>F>DO=: 

1) 7?G5>>>, 6 ?>?=>< >5N5<5 >E6><? ?D>7D4<<=O= <4F5D<4?, <7?4745F 57> =4 6OE>>>< 

=4GG=>-F5>D5F<G5E>>< GD>6=5, <7GG<? >5O74F5?L=GN < 4>?>?=<F5?L=GN ?<F5D4FGDG, G<55F 

?D46<?L=> <E?>?L7>64FL 764=<O ?D< D57<>=4?L=>< 4=4?<75, >D<5=F<DG5FEO 6 E>6D5<5==OE 

?D>5?5<4E ??>4>6>4EF64; 

2) G<5?> ?D<<5=O5F F5>D5F<G5E><5 7=4=<O ?> ??>4>6>4EF6G ?D< D5L5=<< ?D4>F<G5E><E 

7444G; 

3) 6?4455F E>6D5<5==O<< <5F>44<< <EE?54>64=<O 6 ??>4>6>4EF65, E4<>EF>OF5?L=> ?>-

?>?=O5F < >5=>6?O5F 7=4=<O 6 E>45 GG55=>= D45>FO; 

4) ?D< >E65M5=<< 6F>D>EF5?5==OE 6>?D>E>6 6>7<>6=O >4=4 465 =5F>G=>EF<, >>F>DO5 

EFG45=F ?57>> <E?D46?O5F ?>E?5 74<5G4=<O ?D5?>4464F5?O.  

�F5=>4 «=574G5F» 6OEF46?O5FEO EFG45=FG, >>F>DO=: 

1) >5=4DG6<? 7=4G<F5?L=O5 ?D>55?O 6 7=4=<< >E=>6=>7> ?D>7D4<<=>7> <4F5D<4?4; 

2) 4>?GEF<? ?D<=F<?<4?L=O5 >L<5>< 6 6O?>?=5=<< ?D54GE<>FD5==OE ?D>7D4<<>= 74-

44=<=. 

 

8. �5D5G5=L >E=>6=>= < 4>?>?=<F5?L=>= GG55=>= ?<F5D4FGDO, =5>5E>4<<>= 

4?O >E6>5=<O 4<EF<??<=O 

4) �E=>6=4O ?<F5D4FGD4: 

1.�<?<>D, '4D?7. �6545=<5 6 <<>D>?D>F5EE>D=GN F5E=<>G / '. �<?<>D; 

�5D56>4 E 4=7?. �. �. �<E5?L=<>>64 < 4D. - �>E>64: �<D, 1984. - 334 E.: <?.; 24 

E<.; ISBN � ?5D. 

2.�D4<<5D ..�. �<?G?LE=O5 < F<DD>6O5 GEFD>=EF64. - �.: �OEL4O L>>-

?4. 2003. 

3.�./=E5=. �GDE F<DD>6>= M?5>FD>=<><. �4-E F><4E. - �.: �<D, 1987. 

5) �>?>?=<F5?L=4O ?<F5D4FGD4: 

1. �GE56 �.�., �GE56 ..�. D44<>M?5>FD>=<><: 'G55=>5 ?>E>5<5 / ..�. �>-

?>M5=>> < 4D.: ?>4 D54. �.�. �5FDGE<=4 - �.: ���, 1993. - 416 E. 

3. %>D>6<F �., %<?? '. �E>GEEF6> EE5<>F5E=<><: � 2-E F. &.1. �5D. E 4=-

7?<=E>>7> - �.: �<D, 1986. - 598 E. 

4. �4EO=>>6 �.�. < 4D. �>?G?D>6>4=<>>6O5 ?D<5>DO: 'G55=<> 4?O 6G7>6 - 

�.: �OEL4O L>>?4, 1981. - 431 E. 

5. �7G<=>6 �.�., �>D>?56 �.�., �D><>6 �.%. �E=>6O <<>D>M?5>FD>=<><. - 

�.: �OEL4O L>>?4, 1991. - 254 E. 

6. �EF>G=<>< < ?D<5<=<>< <7?GG5=<O: 'G55=>5 ?>E>5<5 / �L4=<= �.�., 

�4=>>6 -.�., �=4D556 �.�., �>?LM<>>6 �.�. - %�5.: �>?<F5E=<>4, 1991. - 240 E. 
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7. �4GD<4= �., %<4<4= �.�. �D4>F<G5E>>5 DG>>6>4EF6> ?> D4EG5F4< EE5< 6 

M?5>FD>=<>5: %?D46>G=<>. � 2-E F. &.1.: �5D. E 4=7?<=E>>7> - �.: -=5D7>4F><<7-

44F, 1991. - 368 E. 

8. $4EG5F M?5>FD>==OE EE5<. �D<<5DO < 7444G<: 'G55=>5 ?>E>5<5 4?O 6G7>6 

/ �7LND>64 �.�., �>D>?56 �.�., &5D5E>6 �.�., �6>7<= �.�., %5D>6 �.�. -?5>-

FD>=<>4. - �.: �OEL4O L>>?4, 1991. - 622 E. 

 

9. �5D5G5=L D5EGDE>6 <=D>D<4F<>==>-F5?5>><<G=<>4F<>==>= E5F< «�=-

F5D=5F», =5>5E>4<<OE 4?O >E6>5=<O 4<EF<??<=O 
1. Elibrary. ru ($��&)- =4GG=4O M?5>FD>==4O 5<5?<>F5>4. 3 �>E>64, 2000. 

http://elibrary.ru 

2. �<D>64O F<DD>64O 5<5?<>F5>4 -https://www.wdl.org/ru/country/RU/. 

3. �4GG=4O 5<5?<>F5>4 ��' <<5=< �.�. �><>=>E>64 - http://nbmgu.ru/. 

4. $>EE<=E>4O 7>EG44DEF65==4O 5<5?<>F5>4 -rsl.ru. 

5. �5E??4F=4O M?5>FD>==4O 5<5?<>F5>4 - �4<=>5 >>=> 4>EFG?4 > >5D47>64F5?L=O< D5-

EGDE4< - http://window.edu.ru/ 

6. http://www.edu.ru/db/portal/spe/index.htm %4=F ?>DF4?4 <=D>D<4F<>==OE E<EF5< 

�4<=>7> >>=4«�>EG44DEF65==O5 >5D47>64F5?L=O5 EF4=44DFO 6OEL57> >5D47>64=<O (��% 

��)». 

7. http://window.edu.ru/window/catalog %FD4=<F4 >4F4?>74 �% «�4<=>5 >>=>». 

8. %4=F �E5<<D=>= >D74=<74F<< ?> <=F5??5>FG4?L=>= E>5EF65==>EF< (���%) 

https://www.wipo.int/. 

9. %45D 3 E4=F E>>5M5EF64 IT-E?5F<4?<EF>6 https://habr.com/ru/  

10. TheAsimovInstitute 3 E4=F =5>><<5DG5E>>= >D74=<74F<< «�=EF<FGF �7<<>64», >D<-

5=F<D>64==>= =4 <7GG5=<5 �� < E6O7< �� < >D54F<6=>EF< https://www.asimovinstitute.org/. 

11. Tensorflow 3 IT-E>>5M5EF6> TensorFlow ?D54>EF46?O5F =45>D D45>G<E ?D>F5EE>6 

4?O D47D45>F>< < <4L<==>7> >5GG5=<O <>45?5= https://www.tensorflow.org/. 

-?5>FD>==>-5<5?<>F5G=O5 E<EF5<O 
7 

?/? 

�4<<5=>64=<5 M?5>FD>==>-

5<5?<>F5G=>= E<EF5<O (-�%) 

�D<-

=44?56

=>EFL 

�4D5E E4=F4 �4<<5=>64=<5 >D74=<74F<<-

6?445?LF4, D5>6<7<FO 4>7>6>D4 =4 <E-

?>?L7>64=<5 

1. �>EFG? > >>??5>F<O< «�4<=4O ?D>-

D5EE<>=4?L=4O 5474 7=4=<= 4?O 47-

D4D=OE 6G7>6 - �744F5?LEF6> �4=L 

«-�%» -�% �4=L < «�4<=4O ?D>D5E-

E<>=4?L=4O 5474 7=4=<= <744F5?LEF64 

�4=L 4?O %�� 3 �744F5?LEF6> �4=L 

(%��» -�% ���, 

EF>-

D>==OO 

http://e.lanbo

ok.com 

OOO «�744F5?LEF6> �4=L» %4=>F-

�5F5D5GD7 

�<F5=7<>==O= 4>7>6>D 

7 93, 98 >F 19.03.2024 7. 

E 15.04.2024 7. ?> 14.04.2025 7. 

2. -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 

«�744F5?LEF6> �4=L».  «->>=><<>4 < 

<5=546<5=F- �744F5?LEF6> �4L>>6 

< �» 

EF>-

D>==OO 

http://e.lanbo

ok.com 

OOO «�744F5?LEF6> �4=L» %4=>F-

�5F5D5GD7 �>7>6>D 7 290 >F 

13.12.2023 

E 01.02.2024 7. 4> 31.01.2025 7 

3. Polpred.com EF>-

D>==OO 

http://Dolpre

d.com 

��� «�>??D54 E?D46>G=<><» %>7?4-

L5=<5 >F 05.12.20177. 557 >7D4=<G5=<O 

6D5<5=<. 

4. -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 

«�744F5?LEF6> �4=L» (�GD=4?O) 

EF>-

D>==OO 

http://e.lanbo

ok.com 

OOO «�744F5?LEF6> �4=L» %4=>F-

�5F5D5GD7 �>7>6>D >F 09.07.2013 7. 

557 >7D4=<G5=<O 6D5<5=< 

5. -?5>FD>==>-5<5?<>F5G=4O E<EF5<4 

«�744F5?LEF6> �4=L» (>>=E>DF<G< 

E5F56OE M?5>FD>==OE 5<5?<>F5>) 

EF>-

D>==OO 

http://e.lanbo

ok.com 

OOO «�744F5?LEF6> �4=L» %4=>F-

�5F5D5GD7 �>7>6>D 7 17 >F 

11.11.20197. 557 >7D4=<G5=<O 6D5<5=< 

6. -�% «.D4=F» EF>-

D>==OO 

http://www.

biblio-

online.ru/ 

��� «.D4=F» �>7>6>D 7 35 >F 

12.12.20177. > D4745?G «�575=44D=O5 

>=<7<» 557 >7D4=<G5=<O 6D5<5=< 
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AdobeInDesign �D>7D4<<4 >><?LNF5D=>= 6UDEF>< (DTP) 

/=45>E 5D4G75D �D4G75D 

7-Zip �DE<64F>D 

KasperskyFreeAntivirus �=F<6<DGE 

%?D46>G=4O ?D46>64O E<EF5<4 �>=EG?LF4=F �?NE.http://www.consultant.ru/. 

 

12. �?<E4=<5 <4F5D<4?L=>-F5E=<G5E>>= 547O =5>5E>4<<>= 4?O >EGM5EF6-

?5=<O >5D47>64F5?L=>7> ?D>F5EE4 ?> 4<EF<??<=5 
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�4F5D<4?L=>-F5E=<G5E>>5 >55E?5G5=<5 4<EF<??<=O 6>?NG45F: 

1. �<5?<>F5G=O= D>=4 $���' �� «�47��' <<5=< �.�. �64<5G?4F>64»; 

2. 'G55=O= ?D>F5EE >EGM5EF6?O5FEO 6 >5>DG4>64==>< >><?LNF5D=>< >?4E-

E5, G>><??5>F>64==O= >><?LNF5D4<< IBM Intel i3 (10 LF.), <G?LF<<54<4 ?D>5>-

F>D E <=F5D4>F<6=>= 4>E>>=. �><?LNF5DO >5N54<=5=O 6 54<=GN ?>>4?L=GN 

E5FL E 6OE>4>< 6 Internet; 

3. �G?LF<<54<==>5 >5>DG4>64=<5 4?O GF5=<O ?5>F<=-?D575=F4F<= < ?D>65-

45=<O ?D4>F<G5E><E 74=OF<=. 

 

13. �E>55==>EF< D54?<74F<< 4<EF<??<=O 4?O <=64?<4>6 < ?<F E>7D4=<-

G5==O<< 6>7<>6=>EFO<< 74>D>6LO 

�5GG4NM<<EO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO ?D54>EF46?O-

NFEO E?5F<4?L=O5 GG55=<>< < GG55=O5 ?>E>5<O, <=4O GG55=4O ?<F5D4FGD4, 

?D54>EF46?5=<5 GE?G7 4EE<EF5=F4 (?><>M=<>4), >>47O64NM57> >5GG4NM<<EO 

=5>5E>4<<GN F5E=<G5E>GN ?><>ML. 

4) 4?O E?45>6<4OM<E: 

- =4 74G5F5 ?D<EGFEF6G5F 4EE<EF5=F, >>47O64NM<= EFG45=FG =5>5E>4<<GN 

?><>ML E GG5F>< <=4<6<4G4?L=OE >E>55==>EF5= (>= ?><>745F 74=OFL D45>G55 

<5EF>, ?5D546<74FLEO, ?D>G<F4FL < >D>D<<FL 7444=<5, 6 F>< G<E?5, 74?<EO64O 

?>4 4<>F>6>G); 

- 7444=<O 4?O 6O?>?=5=<O, 4 F4>65 <=EFDG>F<O > ?>DO4>5 ?D>6545=<O 74-

G5F4 74G<FO64NFEO 4EE<EF5=F><; 

- ?<EL<5==O5 7444=<O 6O?>?=ONFEO =4 5G<475, =44<>F>6O64NFEO 4EE<-

EF5=F><; 

- >55E?5G<645FEO <=4<6<4G4?L=>5 D46=><5D=>5 >E65M5=<5 =5 <5=55 300 

?N>E; 

- EFG45=FG 4?O 6O?>?=5=<O 7444=<O ?D< =5>5E>4<<>EF< ?D54>EF46?O5FEO 

G65?<G<64NM55 GEFD>=EF6>. 

5) 4?O 7?GE<E < E?45>E?OL4M<E: 

- =4 74G5F5 ?D<EGFEF6G5F 4EE<EF5=F, >>47O64NM<= EFG45=FG =5>5E>4<<GN 

?><>ML E GG5F>< <=4<6<4G4?L=OE >E>55==>EF5= (>= ?><>745F 74=OFL D45>G55 

<5EF>, ?5D546<74FLEO, ?D>G<F4FL < >D>D<<FL 7444=<5, 6 F>< G<E?5, 74?<EO64O 

?>4 4<>F>6>G); 

- 74G5F ?D>6>4<FEO 6 ?<EL<5==>= D>D<5; 

- >55E?5G<645FEO =4?<G<5 76G>>GE<?<64NM5= 4??4D4FGDO >>??5>F<6=>7> 

<E?>?L7>64=<O, ?D< =5>5E>4<<>EF< ?D54>EF46?O5FEO 76G>>GE<?<64NM4O 4??4-

D4FGD4 <=4<6<4G4?L=>7> ?>?L7>64=<O. 

- ?> 65?4=<N EFG45=F4 74G5F <>65F ?D>6>4<FLEO 6 GEF=>= D>D<5. 

6) 4?O ?<F E =4DGL5=<O<< >?>D=>-46<74F5?L=>7> 4??4D4F4 (FO65?O-

<< =4DGL5=<O<< 46<74F5?L=OE DG=>F<= 65DE=<E >>=5G=>EF5= <?< >FEGF-

EF6<O 65DE=<E >>=5G=>EF5=): 

- ?<EL<5==O5 7444=<O 6O?>?=ONFEO =4 >><?LNF5D5 E> E?5F<4?<7<D>64=-

=O< ?D>7D4<<=O< >55E?5G5=<5< <?< =44<>F>6O64NFEO 4EE<EF5=F><. 

- ?> 65?4=<N EFG45=F4 74G5F <>65F ?D>6>4<FEO 6 GEF=>= D>D<5. 
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�>?>?=5=<O < <7<5=5=<O 6 D45>GGN ?D>7D4<<G 4<EF<??<=O 

 

�=5E5==O5 <7<5=5=<O =4 20__/20__ GG55=O= 7>4 

 

'&��$���.: 

�5D6O= ?D>D5>F>D 

_____________ �.�. �G>4<?>6 

«___»___________ 20___ 7. 

 

� ?D>7D4<<G 4<EF<??<=O (<>4G?O) «�<>D>?D>F5EE>D=O5 ED54EF64 6 M?5>-

FD>F5E=<>5» 

?> =4?D46?5=<N ?>47>F>6>< 13.03.02 -?5>FD>M=5D75F<>4 < M?5>FD>F5E=<>4 

6=>EOFEO E?54GNM<5 <7<5=5=<O: 

&&&&&&&&&&&&&&&&; 

&&&&&&&&&&&&&&&&; 

&&&&&&&&&&&&&&&&; 

 

�5D5E<>FD5=4 =4 74E544=<< >4D54DO 

 

�D>F>>>? 7 ___ >F ________ 7. 

 

�4654GNM<= >4D54D>= 

�DE?4=>6 �.�.     /      ?D>D5EE>D     /    ______________    / 
                          (D4<<?<O, <<O, >FG5EF6>)    (GG5=>5 764=<5)                    (?>4?<EL) 

 

�4>5D5=> 

�D54E544F5?L <5F>4<G5E>>= >><<EE<< 46F><>5<?L=>7> D4>G?LF5F4 

�5?<>>6  �.�.        / 4>F5=F / ______________ 
                        (D4<<?<O, <<O, >FG5EF6>)           (GG5=>5 764=<5)                     (?>4?<EL) 

«____» _______ 20    7. 
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>>F>D>< >F-

D465=O <7-

<5=5=<O 

�>4?<EL $4EL<DD>6>4 

?>4?<E< 

�4F4 

66545=<O 

<7<5=5=<= 
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